Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

39-:0.001

8 +0.001

69 x 0.001

81-+0.001

98 +-0.001

100+0.001

91 x 0.001

93 % 0.001

45 % 0.001

42 -+-0.001

35 % 0.001

47--0.001

83+0.001

93 % 0.001

17-+0.001

14 +-0.001

58 x 0.001

38 x 0.001

43 % 0.001

27 % 0.001
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

39+0.001
39,000
8 +0.001
8,000
69 x 0.001
0.069
81-+0.001
81,000
98 = 0.001
98,000
100 +0.001
100,000
91 x 0.001
0.091
93 x 0.001
0.093
45 % 0.001
0.045
42+0.001
42,000

35 x 0.001
0.035
47 +0.001
47,000
83--0.001
83,000

93 x 0.001
0.093
17-0.001
17,000
14+ 0.001
14,000
58 x 0.001

0.058
38 x 0.001
0.038
43 % 0.001
0.043
27 x0.001
0.027
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